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FCCAnalyses: FCC-ee Simulation (Delphes)

1020 i 1 | I T 1 | I T 1 | I T 1 | I T 1 | I T 1 | I T 1 | I T 1 | I T 1 | 1 I__
Vs =240 GeV, L=10.8 ab™ ]
1018i e'e ~ZH,Z ~qaH - 11, B
10" ~ E,5>100 GeV, BDT score>0.5 B
10 = —
- Z(qa)H(t1) Cww e I
120 I e'e- | [ Jey - ez(ll) —
10~ ADY I Z(TT)H(1T) Bl Z(H(QQ)
na [ Z(t7)H(gg) B Z()H(VW)
100 = CJZOvHVW)  EEZHQQ) — —=
- 3 Z(HH(g) CJzZMHWY)
108 ] Z(@a)H(VV) —
10%F _
10% -
107 _
1 _
102 —
107 = -
10_6 B | L 11 | L 11 | I 111 | LI | L 11 | L 11 | l
-100 -80 -60 -40 -20 O 20 40 60 80 100

Reco subleading Z daughter P, [GeV]



	Contents
	Page 1


